Long String



PAGE	CUST NO	INVOICE DATE
1 of 1	1003327	05/11/2012

INVOICE NUMBER

1718 - 90902837

Pratt

(620) 672-1201

B PROLIFIC RESOURCES LLC

I 2725 DRY CREEK RD

L GREAT BEND

KS US 67530

o ATTN:

DARRELL WILLINGER

LEASE NAME J

Rosco 1

LOCATION B

COUNTY

Barton

STATE I

KS

T E

JOB DESCRIPTION Cement-New Well Casing/Pi

JOB CONTACT

19905	QTY	U of	Net - 30 days	06/10/2012
05/10/2012 to 05/11	QTY	1 77 -5		
05/10/2012 to 05/1/		M	UNIT PRICE	INVOICE AMOUNT
03/10/2012 10 03/11	0/2012	12		
nt-New Well Casing/Pi 05/1	0/2012			
string				
	100.0	O EA	13.60	1,359.90
	55.0	O EA	10.40	571.96
	39.0	O EA	2.96	115.43
	24.0	EA	3.20	76.79
	454.0	O EA	0.40	181.59
icer	29.0	O EA	4.80	139.19
	94.0	EA	4.12	387.25
	47.0	EA	6.00	281.98
	500.0	EA	0.54	267.98
	500.0	EA	1.22	611.96
Baffle, 5 1/2"" (Blu	1.0	EA	319.98	319.
5 1/2"" (Blue)"	1.0	EA	287.98	287.
(Blue)"	6.0	EA	87.99	527.9
B) *	1.0	EA	231.98	231.9
U, cars one way)"	55.0	MI	3.40	186.9
eage	110.0	M	5.60	615.9
. Chgs., per ton mil	391.0	EA	1.28	500.4
4000'	1.0	EA	1,727.88	1,727.8
rvice Charge	155.0	BAG	1.12	173.5
	1.0	EA	159.99	159.9
_	1.0	EA	199.99	199.9
first 8 hrs on loc.	1.0	EA	139 89	DAIS"
				5-24-13
				5-24-13
	Baffle, 5 1/2"" (Blu 5 1/2"" (Blue)" (100.00 55.00 39.00 24.00 454.00 47.00 500.00 500.00 500.00 500.00 500.00 500.00 500.00 500.00 500.00 1.00 6.00 6.00 6.00 6.00 6.00 6.00	100.00 EA 55.00 EA 39.00 EA 24.00 EA 454.00 EA 47.00 EA 500.00 EA 1.00 EA 51/2"" (Blue)" (Blue)" (Blue)" 6.00 EA U, cars one way)" 55.00 MI 10.00 MI 391.00 EA 4000' 1.00 EA	100.00 EA

PLEASE REMIT TO: SEND OTHER CORRESPONDENCE TO:

DALLAS, TX 75284-1903

BASIC ENERGY SERVICES, LP BASIC ENERGY SERVICES, LP PO BOX 841903 PO BOX 10460 MIDLAND, TX 79702

SUB TOTAL TAX 9,066.76

291.56

INVOICE TOTAL

9,358.32



FIELD SERVICE TICKET 1718 05885 A

DATE TICKET NO. DATE OF OLD PROD INJ WDW DISTRICT 2015115 LEASE KOSCO 116 WELL NO. CUSTOMER COUNTY SArton 16 STATE **ADDRESS** m. SERVICE CREW A HEAD CITY STATE **AUTHORIZED BY** JOB TYPE **EQUIPMENT#** THINE **EQUIPMENT#** HRS **EQUIPMENT#** HRS HRS AM PM TRUCK CALLED ARRIVED AT JOB START OPERATION 盤 FINISH OPERATION RELEASED AM MILES FROM STATION TO WELL

CONTRACT CONDITIONS: (This contract must be signed before the job is commenced or merchandise is delivered). The undersigned is authorized to execute this contract as an agent of the customer. As such, the undersigned agrees and acknowledges that this contract for services, materials, products, and/or supplies includes all of and only those terms and conditions appearing on the front and back of this document. No additional or substitute terms and/or conditions shall become a part of this contract without the written consent of an officer of Basic Energy Services LP. (WELL OWNER, OPERATOR, CONTRACTOR OR AGENT) MATERIAL, EQUIPMENT AND SERVICES USED UNIT QUANTITY UNIT PRICE **\$ AMOUNT** 100 16 16 45 16 6 EA SUB TOTAL CHEMICAL / ACID DATA: **SERVICE & EQUIPMENT** %TAX ON \$ **MATERIALS** %TAX ON \$ TOTAL

SERVICE	Dan	
REPRESENTATIVE	Ulle	_

THE ABOVE MATERIAL AND SERVICE ORDERED BY CUSTOMER AND

RECEIVED BY:	YA	Low	17/2
WELL OWNER	OPERATOR (CONTRA	CTOR OR AGE



FIELD SERVICE TICKET

1718 05380 A

DATE TICKE

TICKET NO. 1718 D 5885 A

DATE OF JOB 5-10)-/=	7 DI	STRICT KANS	2.5		NEW K O	LD P	ROD INJ	□ WDW	□ CL	ISTOMER RDER NO.:		
CUSTOMER P	OL	fic	Resours	es LL	2	LEASE ROSCO AL / WELL NO.							
ADDRESS						COUNTY BAR + ON 16-20-11 STATE KS							
CITY · STATE					SERVICE CREW Allow Mike, Mike Li								
AUTHORIZED BY JO					JOB TYPE:	-1/2	6.5.			CNU	,		
EQUIPMENT	#	HRS	EQUIPMENT#	HRS	EQL	JIPMENT#	HRS	TRUCK CAL	LED 5-10	DATE	PM TI	OG	
#28443 F	24	7						ARRIVED AT	JOB 5-10	5-1	2 PM 8	45	
19405-149	25	2						START OPE	RATION	0-1-	= AM /2	30	
19831-198	62	2						FINISH OPE	RATION 5	0-1	2 PM	20	
								RELEASED	5-10	3-1	I AM	2.0	
							1	MILES FROM	STATION TO	WELL	55-M	ile	
products, and/or sup become a part of thi	oplies inc	rized to excludes all o	RACT CONDITIONS: (This xecute this contract as an a of and only those terms and the written consent of an of	agent of the cus conditions app	stomer. A earing on	s such, the unders	of this do	es and acknowless acknowless and acknowless acknowless acknowless and acknowless acknowless and acknowless acknowless and ackn	ledges that this cor	ierms 4	and/or condition	ns shall	
ITEM/PRICE REF. NO.		M	ATERIAL, EQUIPMENT	AND SERVI	CES US	ED	UNIT	QUANTITY	UNIT PRICE		\$ AMOUN	VT	
FIOU	UN	it m	nilenge ch	9			mi	55			d 233	75	
F101	110	ruy	Equip in	ilong	1		mi	110			F 770	00	
E113	Bu	114	Delivery s	49			TM	391			F 624	80	
CF 204	De	0+4	C49. 30	01-40	00		4-hr	1			E 2160	3 0 0	
CE 240	BI	erud	ing & mix	ing S	914	ise chiq.	5/5	155			5 217	00	
CF 561	C	151	y Swis	er R	ent	AL	CA	- /-			\$ 200	00	
CF 504	111	19 6	CONTAINE	446	141	FON Chy	105	,			1 250	00	
5003	20	10.0	e Super V	4505 +	115	8415	En				5/4	00	
							1-						
	-												
	-												
									•				
									4				
CHE	MICAL /	ACID DAT	TA:	7					SUB TO	TAL	19,066	76	
					SEI	RVICE & EQUIP	MENT	%TA	X ON \$		11		
						TERIALS			X ON \$				
										TAL			
•													
SERVICE		1)		THE APOVE	MATE	DIAL AND SED	IICE	1	- C	1	N. Committee		

ORDERED BY CUSTOMER AND RECEIVED BY:

REPRESENTATIVE



FIELD SERVICE TICKET

1	718 A	
	Continuational	
DATE	TICKET NO 1719 NEORS	4

						DATE	TICKET NO.		-
DATE OF JOB 5-10-1	7 [DISTRICT KANS	1 5	NEW DE C	VELL F	PROD INJ	□WDW □8	USTOMER RDER NO.:	
CUSTOMER POOL	: fie	Respues	es ILC	LEASE R	526	5 H	1	WELL NO.	
ADDRESS				COUNTY	ar for	16-2	STATE /C		
CITY .		STATE		SERVICE CR	EW A	low on	Kemit	re L.	
AUTHORIZED BY			,	JOB TYPE:	5 /5	1.5.		CNU	3
EQUIPMENT#	HRS	EQUIPMENT#	HRS	EQUIPMENT#	HRS	TRUCK CALL	ED 5 DAT	E AM TI	IME
#28443 PU	7					ARRIVED AT	JOB 5-10-1	Z AM P	45
19903-19905	7					START OPER	RATION 5-10-	Z AM	130
19931-19862	12					FINISH OPER	RATION 10-	AM PM	20
						RELEASED	5-10-	AM PM	0.63
						MILES FROM	STATION TO WEL	L 55-m	1/=
become a part of this cont	ract withou	of and only those terms and t the written consent of an of MATERIAL, EQUIPMENT	ficer of Basic Energ	gy Services LP.		SIGNED:	ER, OPERATOR, CONT	83-	AGENT
REF. NO.	-	milense ch	ei ei		Laar o'	5	T	0 233	5
F101 N.	endy	Egy Di	lance		202	110		E 770	000
F113 B	115	Odl. Jers	h 5.		TN	391		1 624	80
CEJUY A	072+L	Chs 300	24-400	C+	4-40	- 1		B 2/60	00
CE 244 B	Irrus	ling women	ing Spi	vice che	5/5	155		5.217	00
(F 551)	15	my Swis	el Her	ut as	EA	- (\$ 200	700
CF 504 PI	cris	Container	at 151	entropiet	Jas			\$ 250	00
		st Jupe J		3.0773				8 (4	
								57.00	
					-				
CHEMICAI	/ ACID D/	ATA:	1				SUB TOTAL	19,066	76
			1	SERVICE & EQUIF	MENT	%TAX	KON\$	41	-
				MATERIALS			K ON \$		
							TOTAL		
SERVICE	Cico	0, 0	THE ABOVE M	ATERIAL AND SER	VICE		1.60		

FIELD SERVICE ORDER NO.

ORDERED BY CUSTOMER AND RECEIVED BY: (WELL OWNER OPERATOR CONTRACTOR OR AGENT)

REPRESENTATIVE



FIELD SERVICE TICKET

1718

F	PRESSURE PUM	PING & WIRELINE					DATE	TICKET NO		_()
DATE OF JOB	0-12 [DISTRICT			NEW D	OLD P	ROD INJ	□ WDW □	ORDER NO.	;
CUSTOMER	- 36 3	Alexander	< - X		LEASE	1500			WELL N	0.
ADDRESS					COUNTY			STATE		
CITY .		STATE	-		SERVICE CI	REW		F. 9 111 1	State A	
AUTHORIZED B	Υ				JOB TYPE:	5 11	1 =		E.	
EQUIPMENT	# HRS	EQUIPMENT#	HRS	EQL	JIPMENT#	HRS	TRUCK CALLE	ED DA	TE AM	TIME
Market His	r if						ARRIVED AT	JOB	AM	1 1
126 1 577 1 7 4 8	1101 - 110						START OPER	ATION	AM	Light de
0 8 3 1 - 17 3	-1 -						FINISH OPER	ATION	AM	100
							RELEASED		AM	يا أن
				-			MILES FROM	STATION TO WE	LL STEE	11 /2
products, and/or sur	polies includes all	execute this contract as an a of and only those terms and it the written consent of an of	conditions ap	pearing on	the front and bad	ck of this do	cument. No addition	oges that this contractional or substitute term	is and/or cond	itions shal
products, and/or su become a part of th	d is authorized to pplies includes all ils contract withou	of and only those terms and it the written consent of an of	conditions ap	pearing on Energy Se	the front and bac ervices LP.	ck of this do	cument. No addition	R, OPERATOR, CON	is and/or cond	R AGENT
products, and/or sur	d is authorized to pplies includes all ils contract withou	of and only those terms and	conditions ap	pearing on Energy Se	the front and bac ervices LP.	ck of this do	SIGNED:(WELL OWNER	onal or substitute term	TRACTOR O	R AGENT
products, and/or su become a part of th	d is authorized to pplies includes all ils contract withou	of and only those terms and it the written consent of an of	conditions ap	pearing on Energy Se	the front and bac ervices LP.	ck of this do	SIGNED:(WELL OWNER	onal or substitute term	TRACTOR O	R AGENT
products, and/or su become a part of th	d is authorized to pplies includes all ils contract withou	of and only those terms and it the written consent of an of	conditions ap	pearing on Energy Se	the front and bac ervices LP.	ck of this do	SIGNED:(WELL OWNER	onal or substitute term	TRACTOR O	R AGENT
products, and/or su become a part of th	d is authorized to pplies includes all ils contract withou	of and only those terms and it the written consent of an of	conditions ap	pearing on Energy Se	the front and bac ervices LP.	ck of this do	SIGNED:(WELL OWNER	onal or substitute term	TRACTOR O	R AGENT
products, and/or suppercome a part of the ITEM/PRICE REF. NO.	d is authorized to pplies includes all ils contract withou	of and only those terms and it the written consent of an of	conditions ap	pearing on Energy Se	the front and bac ervices LP.	ck of this do	SIGNED:(WELL OWNER	onal or substitute term	TRACTOR O	R AGENT
products, and/or suppercome a part of the ITEM/PRICE REF. NO.	d is authorized to pplies includes all ils contract withou	of and only those terms and it the written consent of an of	conditions ap	pearing on Energy Se	the front and bac ervices LP.	ck of this do	SIGNED:(WELL OWNER	onal or substitute term	TRACTOR O	R AGENT
products, and/or suppercome a part of the ITEM/PRICE REF. NO.	d is authorized to pplies includes all ils contract withou	of and only those terms and it the written consent of an of	conditions ap	pearing on Energy Se	the front and bac ervices LP.	ck of this do	SIGNED:(WELL OWNER	onal or substitute term	TRACTOR O	R AGENT
products, and/or suppercome a part of the ITEM/PRICE REF. NO.	d is authorized to pplies includes all ils contract withou	of and only those terms and it the written consent of an of	conditions ap	pearing on Energy Se	the front and bac ervices LP.	ck of this do	SIGNED:(WELL OWNER	onal or substitute term	TRACTOR O	R AGENT
products, and/or suppercome a part of the ITEM/PRICE REF. NO.	d is authorized to pplies includes all ils contract withou	of and only those terms and it the written consent of an of	conditions ap	pearing on Energy Se	the front and bac ervices LP.	ck of this do	SIGNED:(WELL OWNER	onal or substitute term	TRACTOR O	R AGENT
products, and/or suppercome a part of the ITEM/PRICE REF. NO.	d is authorized to pplies includes all ils contract withou	of and only those terms and it the written consent of an of	conditions ap	pearing on Energy Se	the front and bac ervices LP.	ck of this do	SIGNED:(WELL OWNER	onal or substitute term	TRACTOR O	R AGENT
products, and/or suppercome a part of the ITEM/PRICE REF. NO.	d is authorized to pplies includes all ils contract withou	of and only those terms and it the written consent of an of	conditions ap	pearing on Energy Se	the front and bac ervices LP.	ck of this do	SIGNED:(WELL OWNER	onal or substitute term	TRACTOR O	R AGENT
products, and/or suppercome a part of the ITEM/PRICE REF. NO.	d is authorized to pplies includes all ils contract withou	of and only those terms and it the written consent of an of	conditions ap	pearing on Energy Se	the front and bac ervices LP.	ck of this do	SIGNED:(WELL OWNER	onal or substitute term	TRACTOR O	R AGENT

SERVICE REPRESENTATIVE THE ABOVE MATERIAL AND SERVICE

MATERIALS

SERVICE & EQUIPMENT

CHEMICAL / ACID DATA:

%TAX ON \$

%TAX ON \$

SUB TOTAL

TOTAL



TREATMENT REPORT

Customer	Fiel	Resou		Lease No).			Date			-
Lease	11-15-1	11200		Well #	1		11	-5-	10-1	7	
Field Order #	Station		./	++	Casing		00'	County	1		State
Type Job	5A Pr	nH /	3		5-/	Formation	340	3	Legal D	escription	
-S /	DATA.	DEDE	ORATIN	G DATA	ELLID	USED -	370			RESUME	
	DATA			G DATA	-Aoid				ESS	ISIP	
Casing Size	Tubing Size	e Shots/F	1	2-B	Dro Dad	el flush	May	11		5 Min.	
Depth 9 8		From	To	25		serv Li	Max	13 =		10 Min.	
Volume 1/2	Volume Max Press	From	То	100	Erac	A 2 0	Min 3			15 Min.	
Max Press		From	То	30	s Frac	Serv L	Avg HHP Used	R. H.		Annulus Pre	Series
16.	on Annulus Vo	From	To		Flush		Gas Volum			Total Load	SSUITO
Plug Depth	Packer De	From	То			H20	Gas voiun		•	Total Load	
Customer Rep	resentative	Bur K-	e	Statio	on Manager 5	cotty		Treater	Allen		
Service Units	28443	19903	1990	5199	831 1986	2					
Driver Names	Allen	Mike	moHa	1 mi	Ke Lawer	rece .					
Time	Casing Pressure	Tubing Pressure	Bbls. Pt	umped	Rate			Ser	vice Log		
845 A	m .					onlo	c. D.	cuss.	spfet	, Setup	DIAN JO
						Righ	RYINE	down	on.	11 Pip	e
1030						Brenk	100w.	o Kell	4 4	RISUP	70
	'					Run.	51/2"	C 59.	/	/ 1	
1105						Start	- 51/6	" CSS	. Sh	oe Jo	not -
						W/Au	to Fi	11 Flor	+ Sho	e L.D.	Baffle
						120	MAC-	cent-	-1-3-	5-7-9	-14
						BASK	e+- 1	3 -5	T	-	
1245	pm		-			7096	30 Hon	340	3 set	c 3398	cirw/R
140	200+		1-	2	5	Puma	17	BBIS	Sup	er flys	60
	/		-	3	5	Pump	783	高雪 2	-33	L H20	CPACE
	5		2	3	5	IMI X X	Dum	02	5 5/6	s A-Se	ru Litel3
						Mix	+ Py	mp 1	005	KS AA	2 153
			2	4		Fini	shin	117 1	NASI	hout 6	2 mostly
					6/4	0100	L.D.	Plus	Star	+ Disk	2.
	500	-			5	CAUG	41	Ct.	. 1/ .	- 7 BBI	sout
215	1500		80	0/2	4	Plus	do	(.2.2.)	1	1 12 2 1	
	0+	ī				Role	150 6	25 T :	0	1	
			9			Plus	RH	1,2/ 2	osk	c 1.50	rylite
		1	1			4200	6 40	Rne	Kup	5000	7.
300						106	COM	plete		000	
		11				1600	JK: A	110-1	MILE	e Mil	cel.